# The Analytic Solution of Initial Periodic Boundary Value Problem Including Sequential Time Fractional Diffusion Equation 

Suleyman Cetinkaya*, Ali Demir and Hülya Kodal Sevindir<br>Department of Mathematics, Kocaeli University, Kocaeli, Turkey<br>*Corresponding author: suleyman.cetinkaya@kocaeli.edu.tr


#### Abstract

In this study, the separation of variables method is applied to form the analytic solution of periodic boundary value problem including time fractional differential equation with periodic boundary conditions in one dimension. The solution is obtained in the form of a Fourier series with respect to the eigenfunctions of a corresponding Sturm-Liouville eigenvalue problem.


Keywords. Caputo fractional derivative; Space-fractional diffusion equation; Mittag-Leffler function; Periodic-boundary-value problems; Spectral method
MSC. 65M70
Received: September 11, 2019
Accepted: October 14, 2019
Copyright © 2020 Suleyman Cetinkaya, Ali Demir and Hülya Kodal Sevindir. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

As PDEs of fractional order is an important research topic in modelling for the numerous processes and systems in various scientific research areas such as mathematical biology, engineering, physics chemistry etc., the interest of this topic is increasing enormously. Since the fractional derivative is non-local, the model with fractional derivative for physical problems turns out to be the best choice to analyze the behaviour of the complex non linear processes. That is why attracts increasing number of researchers. The derivatives in the sense of Caputo is one of the most common one since modelling of physical processes with fractional differential
equations including Caputo derivative is much more better than other models. In literature increasing number of studies can be found supporting this conclusion [1], [2], [5], [6], [4], [3], [7], [8], [10], [11], [12], [13], [14]. Moreover, the Caputo derivative of constant is zero which is not hold by many fractional derivatives. The solutions of fractional PDEs and ODEs are determined in terms of Mittag-Leffler function.

## 2. Preliminary Results

In this part, we recall fundamental definition and well known results about fractional derivative in Caputo sense.

Definition 1. The $q$ th order fractional derivative of $u(t)$ in Caputo sense is defined as

$$
\begin{equation*}
D^{q} u(t)=\frac{1}{\Gamma(n-q)} \int_{t_{0}}^{t}(t-s)^{n-q-1} u^{(n)}(s) d s, \quad t \in\left[t_{0}, t_{0}+T\right], \tag{1}
\end{equation*}
$$

where $u^{(n)}(t)=\frac{d^{n} u}{d t^{n}}, n-1<q<n$. Note that Caputo fractional derivative is equal to integer order derivative when the order of the derivative is integer.

Definition 2. If $0<q<1$, the $q$ th order Caputo fractional derivative is defined as

$$
\begin{equation*}
D^{q} u(t)=\frac{1}{\Gamma(1-q)} \int_{t_{0}}^{t}(t-s)^{-q} u^{\prime}(s) d s, \quad t \in\left[t_{0}, t_{0}+T\right] . \tag{2}
\end{equation*}
$$

The Mittag-Leffler function with two-parameters is defined as

$$
\begin{equation*}
E_{\alpha, \beta}\left(\lambda\left(t-t_{0}\right)^{\alpha}\right)=\sum_{k=0}^{\infty} \frac{\left(\lambda\left(t-t_{0}\right)^{\alpha}\right)^{k}}{\Gamma(\alpha k+\beta)}, \quad \alpha, \beta>0 \tag{3}
\end{equation*}
$$

including constant $\lambda$. Especially, for $t_{0}=0, \alpha=\beta=q$ we have

$$
\begin{equation*}
E_{\alpha, \beta}\left(\lambda t^{q}\right)=\sum_{k=0}^{\infty} \frac{\left(\lambda t^{q}\right)^{k}}{\Gamma(q k+q)}, \quad q>0 . \tag{4}
\end{equation*}
$$

Mittag-Leffler function coincides with exponential function, i.e., $E_{1,1}(\lambda t)=e^{\lambda t}$ for $q=1$ (for details see [9], [15]).

We determined the solution of following time fractional differential equation with periodic boundary conditions and initial condition in this study:

$$
\begin{align*}
& D_{t}^{\alpha} u(x, t)=\gamma^{2} u_{x x}(x, t), \quad 0<\alpha<1,-l \leq x \leq l, 0 \leq t \leq T, \gamma \in R,  \tag{5}\\
& \left\{\begin{array}{l}
u(-l, t)=u(l, t), \quad t>0 \\
u_{x}(-l, t)=u_{x}(l, t), \quad t>0
\end{array} \quad 0 \leq t \leq T,\right.  \tag{6}\\
& u(x, 0)=f(x), \quad-l \leq x \leq l . \tag{7}
\end{align*}
$$

## 3. Main Results

By means of separation of variables method, the solution of problem (5)-(7) is constructed in analytical form. Thus a solution of problem (5)-(7) have the following form:

$$
\begin{equation*}
u(x, t ; \alpha)=X(x) T(t ; \alpha), \tag{8}
\end{equation*}
$$

where $0 \leq x \leq l, 0 \leq t \leq T$.
Plugging (8) into (5) and arranging it, we have

$$
\begin{equation*}
\frac{D_{t}^{\alpha}(T(t ; \alpha))}{T(t ; \alpha)}=\gamma^{2} \frac{X^{\prime \prime}(x)}{X(x)}=-\lambda^{2} . \tag{9}
\end{equation*}
$$

Equation (9) produces a fractional differential equation with respect to time and a ordinary differential equation with respect to space. The first ordinary differential equation is obtained by taking the equation on the right hand side of eq. (9). Hence with boundary conditions (6), we have the following problem:

$$
\begin{align*}
& X^{\prime \prime}(x)+\lambda^{2} X(x)=0,  \tag{10}\\
& \left\{\begin{array}{l}
X(-l)=X(l) \\
X^{\prime}(-l)=X^{\prime}(l)
\end{array}\right. \tag{11}
\end{align*}
$$

The solution of eigenvalue problem (10)-(11) is accomplished by making use of the exponential function of the following form:

$$
\begin{equation*}
X(x)=e^{r x} \tag{12}
\end{equation*}
$$

Hence the characteristic equation is computed in the following form:

$$
\begin{equation*}
r^{2}+\lambda^{2}=0 \tag{13}
\end{equation*}
$$

Case 1. If $\lambda=0$, the eq. (13) have two coincident roots $r_{1}=r_{2}$, leading to the general solution of the eigenvalue problem (10)-(11) having the following form:

$$
\begin{align*}
& X(x)=k_{1} x+k_{2},  \tag{14}\\
& X^{\prime}(x)=k_{1} . \tag{15}
\end{align*}
$$

The first boundary condition yields

$$
\begin{equation*}
X(-l)=-k_{1} l+k_{2}=k_{1} l+k_{2}=X(l) \Rightarrow k_{1}=0 . \tag{16}
\end{equation*}
$$

This result leads to

$$
\begin{equation*}
X(x)=k_{2} . \tag{17}
\end{equation*}
$$

Similarly, second boundary condition leads to

$$
\begin{equation*}
X^{\prime}(-l)=0=X^{\prime}(l) . \tag{18}
\end{equation*}
$$

Hence we obtain the solution as follows:

$$
\begin{equation*}
X_{0}(x)=k_{2} . \tag{19}
\end{equation*}
$$

Case 2. If $\lambda>0$, the eq. (13) have two distinct real roots $r_{1}, r_{2}$ leading to the general solution of the eigenvalue problem (13)-(14) having the following form:

$$
\begin{equation*}
X(x)=k_{1} e^{r_{1} x}+k_{2} e^{r_{2} x} \tag{20}
\end{equation*}
$$

The first boundary condition yields

$$
\begin{align*}
& X(-l)=k_{1} e^{-r_{1} l}+k_{2} e^{-r_{2} l}=k_{1} e^{r_{1} l}+k_{2} e^{r_{2} l}=X(l),  \tag{21}\\
& k_{1}\left(e^{-r_{1} l}-e^{r_{1} l}\right)+k_{2}\left(e^{-r_{2} l}-e^{r_{2} l}\right)=0 . \tag{22}
\end{align*}
$$

Since $e^{-r_{1} l}-e^{r_{1} l}$ and $e^{-r_{2} l}-e^{r_{2} l}$ are linearly independent the equation (22) is satisfied if and only if $k_{1}=0=k_{2}$ which implies that $X(x)=0$ which means that we don't have any solution for $\lambda>0$.

Case 3. If $\lambda<0$, the characteristic equation have two complex conjugate roots leading to the general solution of the eigenvalue problem (10)-(11) having the following form:

$$
\begin{equation*}
X(x)=c_{1} \cos (\lambda x)+c_{2} \sin (\lambda x) \tag{23}
\end{equation*}
$$

The first boundary condition yields

$$
\begin{equation*}
X(-l)=c_{1} \cos (\lambda l)-c_{2} \sin (\lambda l)=c_{1} \cos (\lambda l)+c_{2} \sin (\lambda l)=X(l) \tag{24}
\end{equation*}
$$

which implies that

$$
\begin{equation*}
\Rightarrow 2 c_{2} \sin (\lambda l)=0 \Rightarrow c_{2}=0 . \tag{25}
\end{equation*}
$$

Hence the solution becomes

$$
\begin{align*}
& X(x)=c_{1} \cos (\lambda x),  \tag{26}\\
& X^{\prime}(x)=-c_{1} \lambda \sin (\lambda x) . \tag{27}
\end{align*}
$$

Similarly, last boundary condition leads to

$$
\begin{align*}
& X^{\prime}(-l)=c_{1} \lambda \sin (\lambda l)+c_{2} \lambda \cos (\lambda l)=-c_{1} \lambda \sin (\lambda l)+c_{2} \lambda \cos (\lambda l)=X^{\prime}(l)  \tag{28}\\
\Rightarrow \quad & 2 c_{1} \lambda \sin (\lambda l)=0 \tag{29}
\end{align*}
$$

which implies that

$$
\begin{equation*}
\sin (\lambda l)=0 . \tag{30}
\end{equation*}
$$

Let $\lambda_{n} l=n \pi$. Hence the eigenvalues can be represented as follows:

$$
\begin{equation*}
\lambda_{n}=\frac{n \pi}{l}, \quad \lambda_{1}<\lambda_{2}<\lambda_{3}<\ldots \tag{31}
\end{equation*}
$$

The representation of the solution is obtained as follows:

$$
\begin{equation*}
X_{n}(x)=\cos \left(\frac{n \pi x}{l}\right), \quad n=1,2,3, \ldots \tag{32}
\end{equation*}
$$

The second equation in (9) for every eigenvalue $\lambda_{n}$ is determined as follows:

$$
\begin{equation*}
\frac{D_{t}^{\alpha}(T(t ; \alpha))}{T(t ; \alpha)}=-\gamma^{2} \lambda_{n}^{2} \tag{33}
\end{equation*}
$$

which yields the following solution

$$
\begin{equation*}
T_{n}(t ; \alpha)=E_{\alpha, 1}\left(-\gamma^{2}\left(\frac{n \pi}{l}\right)^{2} t^{\alpha}\right), \quad n=0,1,2,3, \ldots \tag{34}
\end{equation*}
$$

The solution for every eigenvalue $\lambda_{n}$ is constructed as follows:

$$
\begin{equation*}
u_{n}(x, t ; \alpha)=X_{n}(x) T_{n}(t ; \alpha)=\cos \left(\frac{n \pi x}{l}\right) E_{\alpha, 1}\left(-\gamma^{2}\left(\frac{n \pi}{l}\right)^{2} t^{\alpha}\right), \quad n=0,1,2,3, \ldots . \tag{35}
\end{equation*}
$$

Hence the general solution becomes

$$
\begin{equation*}
u(x, t ; \alpha)=A_{0}+\sum_{n=1}^{\infty} A_{n} \cos \left(\frac{n \pi x}{l}\right) E_{\alpha, 1}\left(-\gamma^{2} \frac{w_{n}^{2}}{l^{2}} t^{\alpha}\right) \tag{36}
\end{equation*}
$$

Note that boundary conditions and fractional differential equation are satisfied by this solution.

The coefficients in (36) are obtained by making use of initial condition (7):

$$
\begin{equation*}
u(x, 0)=f(x)=A_{0}+\sum_{n=1}^{\infty} A_{n} \cos \left(\frac{n \pi x}{l}\right) \tag{37}
\end{equation*}
$$

Through the inner product in $L_{2}[-l, l]$, we obtain the coefficients $A_{n}$, for $n=0,1,2,3, \ldots$ as follows:

$$
\begin{align*}
& A_{0}=\frac{1}{2 l} \int_{-l}^{l} f(x) d x,  \tag{38}\\
& A_{n}=\frac{1}{l} \int_{-l}^{l} f(x) \cos \left(\frac{n \pi x}{l}\right) . \tag{39}
\end{align*}
$$

## 4. Illustrative Example

In this part, we first take the following periodic initial boundary value problem:

$$
\begin{align*}
& u_{t}(x, t)=u_{x x}(x, t), \quad-1 \leq x \leq 1,0 \leq t \leq T \\
& \left\{\begin{array}{l}
u(-1, t)=u(1, t), \quad t>0 \\
u_{x}(-1 t, t)=u_{x}(1, t), \quad t>0
\end{array}\right. \\
& u(x, 0)=\cos (\pi x), \quad-1 \leq x \leq 1 \tag{40}
\end{align*}
$$

which has the solution in the following form:

$$
\begin{equation*}
u(x, t)=\cos (\pi x) e^{-\pi^{2} t} \tag{41}
\end{equation*}
$$

Now, we take the problem below named as heat-like problem into consideration

$$
\begin{align*}
& D_{t}^{\alpha} u(x, t)=u_{x x}(x, t), \quad 0<\alpha<1,-1 \leq x \leq 1,0 \leq t \leq T  \tag{42}\\
& \begin{cases}u(-1, t)=u(1, t), & t>0 \\
u_{x}(-1, t)=u_{x}(1, t), & t>0\end{cases}  \tag{43}\\
& u(x, 0)=\cos (\pi x), \quad-1 \leq x \leq 1
\end{align*}
$$

Applying separation of the variables to (42) leads to the equation

$$
\begin{equation*}
\frac{D_{t}^{\alpha}(T(t ; \alpha))}{T(t ; \alpha)}=\frac{X^{\prime \prime}(x)}{X(x)}=-\lambda^{2} . \tag{45}
\end{equation*}
$$

Equation (45) produces a fractional differential equation with respect to time and a ordinary differential equation with respect to space. The first fractional differential equation is obtained by taking the equation on the right hand side of eq. (45). Hence with boundary conditions (43), we have the following problem:

$$
\begin{align*}
& X^{\prime}(x)+\lambda^{2} X(x)=0,  \tag{46}\\
& \left\{\begin{array}{l}
X(-1)=X(1) \\
X^{\prime}(-1)=X^{\prime}(1)
\end{array}\right. \tag{47}
\end{align*}
$$

Hence the eigenvalue problem (46)-(47) yields the following solution:

$$
\begin{equation*}
X_{n}(x)=\cos (n \pi x), \quad n=0,1,2,3, \ldots \tag{48}
\end{equation*}
$$

The second equation (45) for every $\lambda_{n}=n \pi$ leads to the following fractional differential equation:

$$
\begin{equation*}
\frac{D_{t}^{\alpha}(T(t ; \alpha))}{T(t ; \alpha)}=-\lambda_{n}^{2} \tag{49}
\end{equation*}
$$

which yields the following solution

$$
\begin{equation*}
T_{n}(t ; \alpha)=E_{\alpha, 1}\left(-(n \pi)^{2} t^{\alpha}\right), \quad n=0,1,2,3, \ldots . \tag{50}
\end{equation*}
$$

The solution is established for every $\lambda_{n}$ as follows:

$$
\begin{equation*}
u_{n}(x, t ; \alpha)=E_{\alpha, 1}\left(-(n \pi)^{2} t^{\alpha}\right) \cos (n \pi x), \quad n=0,1,2,3, \ldots \tag{51}
\end{equation*}
$$

and hence we have the following sum:

$$
\begin{equation*}
u(x, t ; \alpha)=A_{0}+\sum_{n=1}^{\infty} A_{n} E_{\alpha, 1}\left(-(n \pi)^{2} t^{\alpha}\right) \cos (n \pi x) \tag{52}
\end{equation*}
$$

Plugging $t=0$ in to the general solution (52), we have

$$
\begin{equation*}
u(x, 0)=A_{0}+\sum_{n=1}^{\infty} A_{n} \cos (n \pi x) . \tag{53}
\end{equation*}
$$

We obtain the coefficients $A_{n}$ for $n=0,1,2,3, \ldots$ as follows:

$$
\begin{align*}
& A_{0}=\frac{1}{2} \int_{-1}^{1} \cos (\pi x) d x=\left(\frac{1}{2 \pi} \sin (\pi x)\right)_{x=-1}^{x=1}=0,  \tag{54}\\
& A_{n}=\int_{-1}^{1} \cos (\pi x) \cos (n \pi x) d x . \tag{55}
\end{align*}
$$

For $n \neq 1, A_{n}=0$ and for $n=1$, we get

$$
\begin{equation*}
A_{1}=\int_{-1}^{1} \cos ^{2}(\pi x) d x=\int_{-1}^{1}\left(\frac{1}{2}+\frac{\cos (2 \pi x)}{2}\right) d x=\left.\left(\frac{x}{2}+\frac{\sin (2 \pi x)}{4 \pi}\right)\right|_{x=-1} ^{x=1}=1 \tag{56}
\end{equation*}
$$

Thus

$$
\begin{equation*}
u(x, t ; \alpha)=\cos (\pi x) E_{\alpha, 1}\left(-\pi^{2} t^{\alpha}\right) \tag{57}
\end{equation*}
$$

It is important to note that plugging $\alpha=1$ in to the solution (57) gives the solution (41) which confirm the accuracy of the method we apply.

## 5. Conclusion

In this research, the analytic solution of initial periodic boundary value problem with periodic boundary conditions, arising in varies applications, is constructed. By making use of separation of variables the solution is formed in the form of a Fourier series in terms of Mittag-Leffler function and exponential function.

## Competing Interests

The authors declare that they have no competing interests.

## Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

## References

[1] M. A. Bayrak and A. Demir, A new approach for space-time fractional partial differential equations by Residual power series method, Applied Mathematics and Computation 336 (2013), 215 - 230, DOI: 10.1016/j.amc.2018.04.032.
[2] M. A. Bayrak and A. Demir, Inverse problem for determination of an unknown coefficient in the time fractional diffusion equation, Communications in Mathematics and Applications 9 (2018), 229 - 237, DOI: 10.26713/cma.v9i2.722.
[3] E. Ozbilge and A. Demir, Analysis of the inverse problem in a time fractional parabolic equation with mixed boundary conditions Boundary Value Problems 2014 (2014), article number 134, DOI: 10.1186/1687-2770-2014-134.
[4] A. Demir, F. Kanca and E. Ozbilge, Numerical solution and distinguishability in time fractional parabolic equation, Boundary Value Problems 2015 (2015), article number 142, DOI: 10.1186/s13661-015-0405-6,
[5] A. Demir, M. A. Bayrak and E. Ozbilge, A new approach for the approximate analytical solution of space time fractional differential equations by the homotopy analysis method, Advances in Mathematichal 2019 (2019), article ID 5602565, DOI: 10.1155/2019/5602565.
[6] A. Demir, S. Erman, B. Özgür and E. Korkmaz, Analysis of fractional partial differential equations by Taylor series expansion, Boundary Value Problems 2013 (2013), article number 68, DOI: 10.1186/1687-2770-2013-68.
[7] S. Erman and A. Demir, A novel approach for the stability analysis of state dependent differential equation, Communications in Mathematics and Applications 7 (2016), 105 - 113, DOI: 10.26713/cma.v7i2.373.
[8] F. Huang and F. Liu, The time-fractional diffusion equation and fractional advection-dispersion equation, The ANZIAM Journal 46 (2005), 1 - 14, DOI: 10.1017/S1446181100008282.
[9] A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, Theory and Applications of Fractional Differential Equations, Elsevier, Amsterdam (2006), https://books.google.co.in/books?hl=en\&lr=\&id= Lhk083ZioQkC\&oi=fnd\&pg=PA1\&ots=fhdR7ftSNL\&sig=2jwea6g71GWpABIzkmWp2DiFnjo\&redir_ esc=y\#v=onepage\&q\&f=false.
[10] Y. Luchko, Initial boundary value problems for the one dimensional time-fractional diffusion equation, Fractional Calculus and Applied Analysis 15 (2012), 141 - 160, DOI: 10.2478/s13540-012-0010-7.
[11] Y. Luchko, Initial-boundary-value problems for the generalized multi-term time-fractional diffusion equation, Journal of Mathematical Analysis and Applications 742 (2011), 538 - 548, DOI: 10.1016/j.jmaa.2010.08.048.
[12] S. Momani and Z. Odibat, Numerical comparison of methods for solving linear differential equations of fractional order, Chaos, Solitons and Fractals 31(5) (2007), 1248 - 1255, DOI: 10.1016/j.chaos.2005.10.068.
[13] B. Ozgur and A. Demir, Some stability charts of a neural field model of two neural populations, Communications in Mathematics and Applications 7 (2016), 159 - 166, DOI: 10.26713/cma.v7i2.481.
[14] L. Plociniczak, Analytical studies of a time-fractional porous medium equation. Derivation, approximation and applications, Communications in Nonlinear Science and Numerical Simulation 24(1-3) (2015), 169 - 183, DOI: 10.1016/j.cnsns.2015.01.005.
[15] I. Podlubny, Fractional Differential Equations, Academic Press, San Diego (1999), https://lib ugent.be/catalog/rug01:002178612.

